AH-IV/Philosophy/CC-VIII/19
B.A. 4th Semester (Honours) Examination, 2019 (CBCS)
Subject : Philosophy
Paper : CC-VIII

Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any ten of the following questions: 2x10=20
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(a) What is the Class-defining characteristic?
@ Fdiwe @RRh Fe
(b) What is meant by distribution of a term of a categorical proposition?

@36 Faee e @I AT T Iece @RI

(c) What is existential fallacy?

SRS @ FIE A2

(d) Define contradictory opposition.

o REifrer Agw wie |

(e) How is the figure of a categorical syllogism determined?

936 fTa e g Jeir [dRe =

(f) What is an enthymeme?
Y R P A2

(g) What is mixed-disjunctive syllogism?
fe-calee R iE T2
(h) What is an argument form?
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(i) What is a contingent statement form?

efeT DA B A2

(j) What are the paradoxes of material implication?

s it goremsf §

(k) What is a formal proof of validity?
Ao SRS A FICP 2

(I) What is material equivalence?

IS Il JICE 12
(m) What is a singular proposition?

&% Ipa I AE?

(n) What is a propositional function?
T AT I T2

(0) What is meant by substitution instance?

R (B8 e I @R e

2. Answer any four of the following questions: 5x4=20
e @ el BIAf 2es e WS 2

(a) What is it for two propositions to be subcontraries? ‘Some squares are circles.” — Does
this proposition have a subcontrary? Give reason for your answer. 2+3=5
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(b) State the rule of categorical syllogism the violation of which leads to the fallacy of the
undistributed middle. Explain the rule with the help of a suitable example. 2+3=5
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(c) (i) Give the Boolean interpretation and Venn diagram of the following:
Everything is momentary.
e B IR TR0 WS 6 (SAba SE T 8
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(ii) Test the validity of the following argument by means of Venn diagram:

A straight line is never curved. Only straight lines can be the sides of a triangle.
So the sides of a triangle are never curved. 2+3=5
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(d) Use truth-tables to determine the following statement forms as tautologous contingent or

self-contradictory:
fsfie waemet Fortg, wefes w1 Fesfiey & O ©f Topids ARy f
I 8

() (por)>(g~9)

(i1) [(p - q) = r] = [(-vq = ~p) > r:| 2+3=5

(e) What is existential import? Do universal propositions have existential import according

to Boole? Explain. 2+3=5
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(H (1) Symbolise each of the following by using logical notations of propositional functions
and quantifiers:

fAEleTe Tl /A ¢ TE I T ARG Il 3
I. A child pointed his finger at the emperor.
G e A e eies Fom s |
II. There is no fool who does not think himself clever.
G (P @ G @S e el T

(i1) What is the denial of a tautology? (2+2)+1=5
G FoTe W/ER FEet | =2

3. Answer any two of the following question: 10x2=20
W @ @I 7 AR Ted WS

(a) (i) What is the specific form of an argument?
4l Fea e SR o0 F @RIF?
(if) Use truth-tables to determine the validity of the following arguments :

TP AR Fewa Fealm el Ffn wa@ ¢
I A>(~BvC)

(C-B)>D

. ADD
I (M>N)-[(M:N)>0]

M>(0>P)

" (M>N)>P 2+(4+4)=10
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(b) Construct a formal proof of validity for each of the following arguments:
e Aroet Ifes (Raeld SRS 2 o1 A ¢
@ ZoA
ZvA
A
(i) (RvS)>(TU)
~R> (Vo-~V)
=
% 5+5=10
(c) Prove the invalidity of the following arguments by the method of assigning truth-values:
FTOEl) S Amied MR Wewa Iewlr wiagel ame i ¢
(i) M>(NvO)
N>(PvQ)
O>DR
~(RvP)
e

(i1) (Elx) (Bx-~Cx)
(x) (Dx:>~Cx)
~. (x) (Dx> Bx) 5+5=10
(d) Construct a formal proof of validity for each of the following arguments:
Iz eroslh e (Fror WPRTS &4 T ! ¢
(1) (x) (Ax D~Bx)
(Hx) (Cx-Ax)

E x) (IxD~Gx) 5+5=10




